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Question 1

The diagram represents a bacterial cell.
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What is the length of the bacterial cell?

A.
0.2 microns

B.
0.5 microns

C.
0.55 microns

D.
0.6 microns
Question 5
The sector graph shows the five main sources of greenhouse gases emitted by the city of Sydney in 2004.
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What approximate percentage did industrial activities contribute?

A.
26

B.
33

C.
53

D.
69
Question 9
When people are exposed to wind, the wind speed affects the temperature that they feel. The chart shows the temperature they feel.
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What is the temperature felt when the air temperature is –10ºC and the windspeed is 20 km/h?

A.
4ºC

B.
–12°C

C.
–20°C

D.
–23°C
Question 18
[image: image5.emf]
If this information is being used to support the use of the vaccine, what sort of argument would it be?

A.
Biased

B.
Economic

C.
Legal

D.
Scientific
Use the following diagram to answer Questions 23 to 25.

The diagram shows a flow chart for the production of ethanol from grain by yeast (a type of micro-organism). Ethanol is being used as a substitute for petrol in cars.  Ethanol made in this way is produced from a crop that can be grown every year.
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Question 23
During the process a chemical reaction occurs in which sugars from the grain are converted to ethanol and carbon dioxide.
Why is only part of the sugar turned into ethanol


A.
Ethanol evaporates in cooking.


B.
Crushing destroys some of the sugar.


C.
Ethanol is not the only product of the process.


D.
Carbon dioxide and ethanol are formed by rearranging atoms.

Question 24
Why is the production of ethanol considered to be a biotechnology?

A.
Separation techniques are used in the process.

B.
The process can be explained using a flow chart.

C.
Carbon dioxide is a waste product from the process.

D.
The process uses micro-organisms to produce a useful product.
Question 25
What advantage does ethanol have over fossil fuels?

A.
It is easy to make.

B.
It is easy to transport as a liquid.

C.
The raw material is a renewable resource.

D.
It does not put carbon dioxide into the atmosphere.
Question 26
Carbon dioxide dissolves in cold water but forms bubbles of gas when the water warms.
How will the carbon dioxide levels in the atmosphere and ocean change as the ocean warms?
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Question 32
The diagram shows a model of the interaction at the boundary between two crustal plates.
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Which features would you expect to find at this plate boundary? 


A.
Volcanoes and earthquakes on Plate B

B.
Earthquakes and volcanic mountains on Plate A

C.
Many deep earthquakes and new ocean floor on Plate B

D.
Many shallow earthquakes and new ocean floor in Plate A
Use the following information to answer Questions 39 to 40.

As part of a class genetics investigation, a student collected data on eye colour of members of her extended family.

Question 39
Which type of graph would NOT be suitable for presenting the student’s data?

A.
Line

B.
Sector

C.
Histogram

D.
Divided bar
Question 40
The student must also enter her family data into a computer to perform some mathematical calculations and produce the graph.
Which application should she use?

A.
A spreadsheet

B.
A simple database

C.
A table in a word-processing document

D.
A presentation program (such as PowerPoint)
Question 41
The student wanted to include data on her great grandmother’s eye colour in her investigation. Her mother told her that her great grandmother’s eye colour was brown.  Photographs of her great grandmother and a diary description written by her great grandfather both confirmed the information provided by her mother.
Which of the following judgements can be made of the data she collected?

A.
It was reliable because she had obtained the information from her family.

B.
It was reliable because she compared it with observations or information from a number of sources.


C.
It was not accurate because she had to compare it with information from secondary sources.

D.
It was less accurate because she had to compare it with observations or information from a number of sources.
Question 42
What is the control in a first-hand investigation?

A.
Repetition of the investigation

B.
A variable that is changed throughout the investigation

C.
A variable that is kept the same throughout the investigation

D.
The situation or condition to which the investigation is compared
Question 43
Which is an example of a first-hand investigation?

A.
Using historical records to describe changes in hair fashions

B.
The inheritance of hair colour in the royal families of Europe

C.
Using magazine pictures to see hair colour changes with age

D.
Measurements of hair length to determine hair growth rates
Question 62 (6 marks) 


(a)
Use the codes provided to construct a timeline of these events on the line below. Two dates have been plotted for you. (3 marks)

(b)
Many important discoveries have been made by teams of scientists. Explain ONE advantage that results from scientists working in a team. (3 marks)
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A new vaccine developed by an Australian scientist, Dr Ian Frazer, is nowavailable for use. The vaccine called Gardasil protects against the strains ofHuman Papilloma Virus (HPV) responsible for 70 per cent of cervical cancer.It has been studied in trials by other doctors and shown to be effective.
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